Present Simple Tense: AW, IS, ARE, HAVE, AS, DO, DOES

1) Nick lunch at
1pm.

a) is

b) has

c¢) does

2) you sleepy?
a) Do

b) Are

c) Don't

3) We
train.

a) don't
b) aren't
c) are

go by

41 interested
in Maths.

a) have

b) don't

¢) am not

5) Jessica want
to be a doctor.

a) -

b) doesn't

c)isn't

6) Jordan
cat.

a) hasn't

b) hasnot
c)isn't

7) We at home.
a) do

b) don't

c)aren't

8) you live in
New Castle?

a) Does

b) Do

c) Are

9) You
headache.
a) have
b) don't
c) are

10) I
working.
a) am
b) don't
c)amn't

tired of

this apple

12) There

shop in our street.
a) are

b) isn't

c)aren't

13) They
DVD player.
a) are

b) haven't
¢)don't

got a

14) Henry his
homework.

a)is

b) has

c¢) does

15) I
bathroom now.
a) am

b) have

c) do

in the

16) anybody
have lunch at school?
a) Does

b) Do

c)Is

17) They at
school. It
Sunday.
a) aren't; is
b) are; is
c) have;
isn't

18) T

understand this rule.
a) don't

b) am

c) have

19) Richard my
husband.

a) doesn't

b) isn't

c) has

20)I married.
a) don't

b) have

¢) am not

21) Robert a
shower in the morning.
a) doesn't has

b) doesn't

c) has

22) the girls
got nice teachers?

a) Has

b) Are

¢) Have

23) Jack and Jill
in a restaurant.

a) haven't

b) are

c) do

24) Oh, we got
enough bread at home.
a) haven't

b) has

c)don't

25) the Taylors
plant a tree in spring?
a) Does

b) Do

c) Are

26) Amber
a handy.

a) hasn't
b) don't
c)isn't

27) There some
milk at home.

a) are

b) does

c)is

28) Our dog
sleep in the garden.
a)isn't

b) doesn't

¢)don't

29) those
grapes fresh?

a) Is

b) Do

c) Are

30) Mrs  Hastings
the shopping in

the supermarket.

a) does

b) doesn't

c) has

31) Who got a
rubber for me?

a) has

b) have

c) are

32) This news
really sad.

a) are

b) aren't

c)is

33) Mary and vyou
_____go to the disco.
a) doesn't

b) don't

c)aren't

got a alarm
system.
a) have
b) does

¢) hasn't

good

34) This house

35) I the only
girl here.
a) am not
b) have

c¢) do not
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